HB860 Performance curve

Hadron Engineering
HB 860 .
1000 | 2000 | 3000 | 4000 | 5000 | 6000
Q,20(kPa) | 107.20 | 27430 | 43890 | 60210 | 764.00 | 924.60
0,30 91.70 | 26200 | 427.30 | 590.80 | 752.90 | 913.70
T |a40 7350 | 25120 | 417.30 | 581.20 | 74360 | 904.50
:
E |aso 24110 | 40830 | 572.60 | 735.20 | 89630
c:1 0,60 23120 | 399.80 | 564.70 | 727.50 | 888.80
E |a70 221.00 | 39170 | 55710 | 72030 | 881.80
S Jaso 21020 | 38370 | 549.80 | 713.30 | 875.00
0,90 37560 | 54270 | 706.60
0,100 367.50 | 535.60 | 700.00
P.20(kPa) | 111 228 357 498 6.53 8.22
- |ps30 171 336 5.18 7.13 9.23 11.49
2 [pao 250 4.46 6.80 9.29 1195 | 1477
o lps0 5.59 844 | 1147 | 1467 | 1806
Q
z [P0 6.76 1010 | 1367 | 1742 | 2137
s |p70 8.00 1179 | 1588 | 2018 | 2469
Q
z [0 932 1351 | 1812 | 2296 | 2803
I T 1528 | 2038 | 2576
P.100 17.09 | 2268 | 2859
T |n20(kea) | 4730 | 4220 | 4150 | 4170 | 4200 | 4260
S |30 6730 | 5400 | 5210 | 5180 | 5190 | 5240
5 a0 9830 | 6680 | 6310 | 6210 | 6200 | 6230
=
8 |uso 8060 | 7460 | 7280 | 7220 | 7230
I% t,60 95.40 86.40 83.60 82.70 82.50
g |uro 11180 | 9870 | 9480 | 9330 | 92.80
g |uso 13000 | 11150 | 106.20 | 10400 | 103.20
g [0 124.80 | 117.90 | 115.00
#  |t100 138.80 | 129.80 | 126.20
HB860
Volume, power and air in outlet for pi diffes 20- 100 kPa
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